1) Match the shopping to its owner.

p

£6 and 1 £2and
49 pence 85 pence 75 pence 36 pence 14 pence

£3 and
65 pence

I spent £9 and 50 pence. I spent more than Grace. I spent less than Grace.

My shopping is in . My shopping is in . My shopping is in

2) Freddie and Ada have both saved some money.

£12 and 17 pence £12 and 85 pence

Freddie says they have less than £25. Ada thinks they have more than £25.

Who is correct? Explain your reasoning.

3) Chester bought a drink and a cupcake from the café.
His bill came to £4 and 94 pence.

W
£2 and £2 and £1 and
My bill is not correct. 45 pence 75 pence 99 pence

Do you agree with Chester? Explain your reasons.
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